
Exercise 12(A) 
A. Write the following in symbolic form (in digits) 

Examples =7.65 7 rupees 65 paise 

39 rupees 5 paise 

715 rupees 50 paise= 715.50 

39.05 

25 rupees 30 paise = 25,30 2 212 rupees 90 paise 210.40 

50 4 834 rupees 9 paisse 83. 34, . 
5 215 rupees 80 paise 15.80 6 508 rupees 60 paise = 03 

8 919 rupees 15 paise 919 

3 85 rupees 8 paise 

7780 rupees 75 paise 80,75 
B. Write the following amounts in words. 

HW 
58.50= Fifty eight rupees and fifty paise.- 
382.05 = Three hundred eighty two rupees and five paise. 

fAn Eg auwpees asan pale 

Examples 

1 48.40 

Ane bund aed tenufi 
Lupee 

2 7 125.25 

up e6S 
3 7444.80 aLA ded £aadu fouhnd e iahta Pau 

4 7 787.05 Sevenhuhdoed e14hiy (eveh_dupeesAnd PayR Ls = 

=ihd hundaedandfouaaupeps Apd tiriu-ae 
67504.75 = ye hundaed pindiouua uniiAPS Sgvendg 

5 804.60 

7 783.80 = Seen hundaed eiohky hoee and era ku 

Pdise 1hnes huneda edStvendu e And faunt 8 7375.45 

DAT 
onversion

We know that 1= 100 p. So, to convert rupees into paise, we multiply the number of 
pees by 100. 

Example 1 Convert78 and 15 into paise. 
8 8x 100 800 paise 

=1,500 paise 
= 

15 = 15x 100 71=100Dp 
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